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QUESTION 1 

g ( 2) =§fCxIdx =
' (z) + I (3) = = I

g 'll)
-

- fly =⑥ ← point on graph of f

g'
'

(2) = fly -③ ← slope of graph off

C-5,2] or C-5,2) because gtx) -- fcx) > o on C-5,2)

( -3
,
- 1) u ( 1,3) because g

"

Cx) -- f-
'
Cx ) s o on this interval

gYxI=fcxy=o
at X=2 gcz) = Iz y - I = o (x - z)

or

y -- z

g 'lxI=o at x=z ← local max here
-

you must communicate this

g ( s ) = faddy = 4 t f - Z - 6 = -2

GC- s) = fix)4= fix>4=-14 t 't ' . if ← absolute min
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h x x f t dt
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p x f t dt
+

−

= ³ ���)LQG� � � ��p − ��

-

Ave rate 0 of g
'

Cx ) = are . rates of fu) =
fCs)-f#
s -C- s)

= -3€ = =
-E

The mean valve theorem does not guarantee b/c far ) is not differentiable
or C-S

,
s) . Namely

,
fax) has a corner at X =-3

,
-1
,
I
, 3 .

In order to guarantee fcx ) must be both continuousones, SJ and doiffeffhfg

5
5

Are .
value of fcx) =

ffcxsdx
= iotfacxsdx

-s

= to [ 4 t 3 t Y tf -Z - 6] = for = I
The me a - value theorem for integrals) does guarantee b/c FA)

is continuous or C- s, s] . .
. (This is the only requirement for form legals)

h 'Ix ) = 4 x - f-Cx)

til 3) = 413) - f-(3) = 12 - C-33=150

P'Cx) = fax't c) ( 12×2)
p
'

C - i) = f- ( - z ) . 12ft)2 = Zz (123=180
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QUESTION 2 

G ( 8) =§fcx)dx I 1412) t 145) t Io Cl ) = 98

Jts) iffcxsh = funk = -[" ' Cs) tt3II ( D t 'II as]
= - ELI . 3 t I t 6]

g 't-4=4-D= 4

g
"

12.6) -- f 42.6)zfCYjf =¥4 = I

m
'

(x ) = f-( I - In x) .
-

tf m
'
Ce ) = HI - Ife

"

) .
-te = f-Co) -I = -8g

blxkg (E) = said b'cxkfCIJ.ly b'Cs) -- fatty =
'I
,
= Z

minimum of one time
.

FIX) is continuous on f-5, 8)✓
f- '(x) is differentiable en C-5, g)V

on [0,2) are f- '(x) = I =3 FIX) =3 at some point on (92) by M-UT

on [2,7) are fly) -- I fly) = -2g at some point on (37) by M- V- T

f- 4×7 IS continuous on [o , 7]
f- '(x) goes

from positive to negative at least on time on [o, 7]
- : by I. V. T f 4×1=0 at least on time .
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QUESTION 3 

[- 3, - I] u ( 1,5] or C-3
,

-Dull, s)

{ f- 'Cx) tax = fcs ) - f- Co ) → ( t - 2-D= f- (s) -12 : ffs) = 12 t I -2 - I = to

§ftx)4= Ho) -ft-3) → f C-3) =12-fTt2-3 = 761
f-C-3) = Ho) -If'cxjdx

§f4x)4÷§x2t4x + 3) dx = [133+2×2+35]=(-5+2-3) - (-9+18-9)
f- 'Ix) 4 = I ← area of triangle
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they are critical X

-cakes
.

end point x rates
-

X=-3
,
x = S

fer 't a9:÷f-C- t ) = flo) f4×34 = 12 -I = II

f-( l) = f-Co) tff'm 4 = 12 t I = 13

f- ( s) = to

f. im f-Cx) - 12

⇒ ⇒⇒ !÷÷÷. -- ÷÷÷ -

- III. ¥
Lifo text - IL = o
also

" """" →

tins
.

' { of -1in. =

'
=

lying, + FIX ) t X = O
C
'

Horta's

Rule
also

him xh - I = o

×→ It


